99/9~100. 1

=

mw|/F

p

A

e

=

2

St

2

NN

Group 1

Group 3

Group 4

09/13
9/14
9/19

lalallal

Ry

|

Av\:’;g\

HAE s FHRE WP

09/20
9/21
9/24

lalallal

Ry

|

Lab [

’ﬁi;}%‘é’\*% N ﬁié‘fﬁgg] N E-2

iR Y

09/27
/28 #cir &
10/1

lalallal

Ry

|

10703
1074
10708

lalallal

Ry

|

10/11
10/12
10/15

lalallal

|

Ry

Lab 1 4 8= (1)

Lab 2 €4 ¥ #iipl &
(6)

Lab 3 Z3-B £ (2)

Lab 4 Tin{'+ %R

B2

10718
10719
10/22

lalallal

Ry

|

Lab 2

Lab 3

Lab 4

Lab 5

10/25
10/26
10/29

lalallal

By

|

Lab 3

Lab 4

Lab 5

Lab 1

11/01
11702
11705

lalallal

By

|

Lab 4

Lab 5

Lab 1

Lab 2

11/08
11/9
11/12

lalallal

Ry

|

Lab 5

Lab 1

Lab 3

10

11/15
11/16
11/19

lalallal

Ry

|

uf)

11

11/22
11/23
11/26

lalallal

Ry

|

12

11/29
11730
12703

lalallal

Ry

|

Lab 6 * 548 & & F (12)

Lab T 4 #ic 3= T
(12)

Lab 8 &% ¢ #(5)

Lab 9 10 2+ &1
Eplg (D

13

12706
12707
12710

”
|

Ry

Lab 7

Lab 8

Lab 9

Lab 10

14

12/13
12/14
12/19

|

Ry

Lab 8

Lab 9

Lab 10

Lab 6

15

12720
12/21
12/24

|

Ry

Lab 9

Lab 10

Lab 6

Lab 7

16

12727
12/28
12/31

alalallealalalilalalaliale

Ry

|

D b b | b D o | Dt D D | D B D D D | D D b | o D D | D b bt | D D B | D b bt | D D B | D b Dt | D B B | D bt b | D D [ D o | T

Lab 10

Lab 6

Lab 7

Lab 8

17

1/2-1/8

g

H

* At/

i

18

1/9~1/15




Group 5

Lab 5 Faraday
Law and Earth B
field (4)

Lab 1

Lab 2

Lab 3

Lab 4

Lab 10 TBA

Lab 6

Lab 7

Lab 8

Lab 9




